
,yq;ifg; guPl;irj; jpizf;fsk;
me;juq;fkhdJ

732 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2019-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

32 - fzpjk;

Nju;r;rpfSk; Fwpf;Nfhs;fSk;

fzpjk; II
01.	Nju;r;rp 05:	 

	 etPd cyfy; ntw;wpfukhd nfhLf;fy; thq;fy;fisg; gad;gLj;jp Nkw;nfhs;thu;. 

	 i.	 jug;gl;l njhifapy; rupghjpia Mz;L tl;btPjk; jug;gl;l tq;fpnahd;wpy; Xuhz;bw;F itg;G 

nra;J ngWk; tUkhdj;ijAk; > vQ;rpa ghjpia xUgq;fpw;F toq;Fk; gq;Fyhgk; jug;gl;l fk;gdp    

xd;wpy; Xuhz;bw;F KjyPL nra;J ngwg;gLk; gq;Fyhgj;ijAk; > %yjdyhgj;ijAk; fzpj;J vk; 

KjyPl;by; $Ljyhd tUkhdk; ngwg;gLk; vd fhuzj;Jld; vOJthu;.

	 ii.	 Xuhz;bd; ,Wjpapd; ,UKiwfspdhyhd KjyPl;by; ngwg;gLk; nkhj;j tUkhdk;              

nkhj;jg;gzj;jpd; rjtPjkhf fhl;Lthu;.

02.	Nju;r;rp 20:	 

	 gy;NtWKiwfis Muha;e;J ,U khwpfSf;fpilapy; fhzg;gLk; gu];gu njhlu;ig ,yFthf

	 njhlu;ghLthu;. 

	

	 y = ax2 + bx + c ; a , b , c,          tbtpyhd rhu;nghd;wpd; tiuig tiutjw;fhf G+uzkw;w

	 ml;ltiz jug;gLk; NghJ> 

   	  i)	 jug;gl;l rhu;gpd; rkd;ghl;ilf;  nfhz;L  jug;gl;l x ,d; ngWkhdj;jpw;F xj;j y ,d; ngWkhdj;ijf; 

fhz;ghu; . 

	  ii) jug;gl;l mstpilf;F Vw;g rhu;gpd; tiuig tiuthu;. 

	  iii) tiugpd; jpUk;gw;Gs;spapd; Ms;$Wfis vOjpf;fhl;Lthu;. 

	 iv) jug;gl;l rhu;ig                               ( ,q;F  a , b ,      ) vDk; tbtpy; vOjpf;fhl;Lthu;. 

	 v) jug;gl;l Mapilapd; y Mapilapy; rhu;G mjpfupf;Fk; x ,d; ngWkhd Mapilia vOjpf; fhl;Lthu;.

03.	Nju;r;rp 17:	  

	 md;whl tho;f;ifapy; Njitfis G+u;j;jp nra;J nfhs;tjw;fhf rkd;ghl;il cUthf;fp

	 jPu;g;gjpy; gy;NtW Kiwfis Nkw;nfhs;thu; .

	 a.
	 i.	 jug;gl;l juTfis nfhz;L ,UkhwpfSldhd xUq;fikr; rkd;ghl;Lr; Nrhbnahd;iw 

cUthf;Fthu;.

	 ii.	 rkd;ghl;Lr; Nrhbiaj; jPu;g;gjd; %yk; ,UkhwpfSf;fhd ngWkhdq;fis jdpj; jdpahf 			 

fhz;ghu;.

     b.	 jug;gl;l ,U ml;ruf;fzpj gpd;dq;fspy; xd;wpypUe;J kw;iwaij fopj;J tpilia vspa tbtpy;

	       vOJthu; .

∈�

( )2y x a b= − + ∈�



,yq;ifg; guPl;irj; jpizf;fsk;
me;juq;fkhdJ

832 - fzpjk;  ( Gs;sptoq;Fk; jpl;lk;  )- f.ngh.j(rhjuzju)g; guPl;ir -2019-,Wjpj; jpUj;jq;fs; cs;slf;fg;glTs;sd.

04.Nju;r;rp 17:	  

	 md;whl tho;f;ifapy; Njitfisg; G+u;j;jp nra;J nfhs;tjw;fhf rkd;ghLfisj; jPu;g;gjpy; 

	 gy;NtW Kiwfis Nkw;nfhs;thu; .

	 ,U Miur;rpiwfspd; Miufis x  rhu;ghf jug;gLk;. NghJ mjd; gug;gsTfspd;  njhlu;GfSf;F 

Vw;g jug;gl;l ,Ugbr;rkd;ghl;il jpUg;jpgLj;Jk; vdf;fhl;b Miur; rpiwnahd;wpd; Miuia 			 

fhz;ghu;.   

05.	Nju;r;rp 13:	  

	 gy;NtW Kiwfis Muha;e;J eilKiwapy; mstpilg; glq;fis my;yJ jpupNfhz fzpj 

tpfpjq;fisg; gad;gLj;Jthu; . 

	 i.	 jug;gl;l cUtpy; cupa juTfis Fwpg;ghu; . 

 

	 ii.	 jpupNfhz fzpj tpfpjq;fis nfhz;L ,UGs;spfSf;F ,ilapyhd J}uj;ij	fzpg;ghu; . 

	 iii.	jug;gl;l %d;W Gs;spfSk; xU nrq;Nfhz Kf;Nfhzpapd; cr;rpfshFk; NghJ       

,Ugf;fq;fSf;fpilapYs;s Nfhzj;jpd; gUkid > jpupNfhz tpfpjj;ij 	 gad;gLj;jp fhz;ghu;.   

06.	Nju;r;rp 29:	 

	  ehshe;j Ntiyia ,yFthf;fpf; nfhs;tjw;F gy;NtW Kiwfspy; juTg; gFg; gha;T nra;J  vjpu;T 

$Wthu;.

	 i.	 nghUl;fspd; jpzpTk; > vz;zpf;ifAk; nfhz;l $l;lkhf;fg;gl;l juTj; njhFjpnahd;W 			 

jug;gLkplj;J > xU nghUl;igapd; ,iliaf; fhz;ghu;.

	 ii.	 xU nghUl;igapd; ,ilj;jpzpitf; nfhz;L 200 igfspd; jpzpitf; fhz;ghu;.

	 iii.	nyhwpnahd;wpy; Vw;wjf;f cr;rj;jpzpT  jug;gLk; NghJ nghUl;fis thfdj;jpy; Vw;w 				 

Kbahj re;ju;g;gq;fSk; ,Uf;fyhk; vd  fhuzj;Jld; fhl;Lthu; .
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07.	Nju;r;rp 02:	 

	 vz;Nfhyq;fspy; fhzg;gLk; gy;NtW njhlu;Gfis Muha;tjd; %yk; KbTfis Nkw;nfhs;thu;.

	 $l;ly; tpUj;jpapd; rpy cWg;Gfis xOq;fhf jug;gLkplj;J 

	 i.	 tpUj;jpapd; nghJ tpj;jpahrj;ijf; fhz;gu; 

	 ii.	 Fwpj;j xU cWg;gpd; ngWkhdj;ijf; fhz;gu;.

	 iii.	ahNjDk; xU fhyg;gFjpapd; gpd; mJ tpUj;jpapd; ve;j cWg;G MFk; vdf; fhz;ghu;.

	 iv.	 tpUj;jpapy; Fwpg;gpl;l cWg;Gf;fspd; $l;Lj;njhifiaf; fz;L> Fwpj;j Neuj;ij Ntfj;Jld; 

njhlu;GgLj;jp gazk; nra;j J}uj;ijf; fhz;gu;.

08.	Nju;r;rp 27:	 

	 Nfj;jpu fzpj tpjpfis cgNahfpj;J mikTfspd; jd;ik gw;wp gFg;gha;T nra;thu;.

	 cm/m mstpilAs;s Neu; tpspk;G> ftuhak; Mfpatw;iw khj;jpuk; gad;gLj;jp>  

	 i.	 jug;gl;l ePsKs;s Neu;Nfhl;Lj; Jz;lj;ij mikj;J mf;Nfhl;bd; xU me;jj;jpy; jug;gl;l xU 

Nfhzj;ij mikg;gu;.

	 ii.	 jug;gl;l ,UNfhl;bypUe;J rkJ}uj;jpy; mirAk; Gs;spapd; xOq;if mikg;gu; 

	 iii.	Neu;Nfhl;bd; kw;iwa me;jj;jpy; nrq;Fj;J xd;iw tiue;J mJ xOf;if re;jpf;Fk; Gs;spia 

ikakhff; nfhz;L tl;lnkhd;iw tiutu;. 

	 iv.	 tl;lnkhd;wpy; mike;Js;s xU Gs;spapy; njhlypnahd;iw mikg;ghu;. 

	 v.	 jug;gl;l ,U Nfhzq;fSk; rkdhtjw;fhd fhuzj;ijf; $Wthu;.  

09.	Nju;r;rp 23:	 

	 Neu;Nfhl;Lj; jsTU njhlu;ghd Nfj;jpu fzpj vz;zf;fUit mbg;gilahff; nfhz;L ehshe;j 

tho;f;ifapy; eltbf;iffspy; KbTfis Nkw;nfhs;thu;.  

	   

	 i.	 xU Kf;Nfhzp njhlu;ghd juTfisf;  nfhz;L jug;gl;l Kf;Nfhzr; Nrhb xUq;fpirAk; vd 

epWTthu;.

	 ii.	 mjd; gf;fq;fspd; ePsk; gw;wpa njhlu;ig fhz;ghu;.
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10.	Nju;r;rp 13:	  

	 tl;lk; rhu;ghd Nfj;jpuf; fzpj vz;zf;fUit mbg;gilahff;  nfhz;L  KbTfis  vLf;f ju;f;fuPjpahf 

rpe;jpg;ghu;. 

	 jug;gl;l tl;lnkhd;wpw;F tiuag;gl;l njhlyp>ehz;>tl;lehw;gf;fy;>NtWjuTfs; jug;gLk; NghJ> Fwpj;j 

Neu;NfhL xUtpl;lk; vdf;fhl;Lthu; 

	 jug;gl;l Neu;NfhL  mj;njhlypf;F rkhe;jukhFk; vdf; fhl;Lthu;.

	   

	

11.	 Nju;r;rp 30:	 

	 md;whl tho;f;ifapy; nray;fis ,yFthf;fpf; nfhs;tjw;fhf njhilfs; rhu;ghd mbg;gil 

Nfhl;ghLfis gad;gLj;Jthu;.

	

	 i.	 nry;yg; gpuhzpfs; tsu;f;Fk; FLk;gq;fs; njhlu;ghd jfty;fSk;> g+uz kw;w ntd;DUTk; 

		  jug;gLk; NghJ mj;juTfis ntd;DUtpy; Fwpg;ghu;.

	 ii.	 ,U njhilfspd;  %yq;fspd; vz;zpf;iffSf;fpilapyhd  njhlu;igf; nfhz;L mt;tpU 

		  njhilfSf;Fupa NtW gpuNjrq;fspd; %yfq;fspd; vz;zpf;ifiaf; fhz;gu;.

	 iii.	NkYs;s jfty;fis cgNahfpj;J jug;gl;l njhilnahd;wpd; %yfq;fspd; vz;zpf;ifiaf; 

		  fhz;ghu;.

Nju;r;rp-31

		  vjpu;fhyj;ij Cfpg;gjw;fhf epfo;Tfspd; rhj;jpaf; $Wfisg; gFg;gha;T nra;thu; 

	

	 iv. ntd;DUtpd; juTfisf; nfhz;L jug;gl;l epfo;Tf;fhd epfo;jfitf; fhz;ghu;.

12.	Nju;r;rp 10:	  

	 fdtsT njhlu;ghf ntt;NtW ghfq;fisf; nfhz;L nraw;gl;L ntspnahd;wpd; cr;rg; gad;ghl;ilg; 

ngw;Wf; nfhs;sthu;.

	 Miu rMFk; miuf;Nfhsnkhd;wpd; fdtsTk; FWf;Fntl;LKfk; nrq;Nfhz Kf;Nfhz tbtpyhd 

mupaj;jpd; nrq;Nfhzj;ij Mf;Fk; gf;fq;fspd; ePsq;fSk;> mupaj;jpd; ePsKk; jug;gLk; NghJ mjd; 

fdtdTfis xg;gpl;L                   vdf; fhl;Lthu;.

	              ,y;    w;fhf 3.14I gpujpapl;L r ,d; ngWkhdj;ij Kjyhk; jrkjhdj;jpw;Ff; fhz;gu;.

3
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=
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